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(mm) (kg/m) (ke/A) (ke)
R1 D13 4,700 7 0. 995 4.677 33
R2 D13 3,160 1 0. 995 3.144 35
R3 D13 830 14 0. 995 0. 826 12
R4 D13 1,020 15 0. 995 1.015 15
RS D13 1,080 1 0. 995 1.075 12
R6 D13 1,360 36 0. 995 1.353 49
R7 D13 610 8 0. 995 0. 607 5
R8 D13 1,530 4 0. 995 1.522 6
R K1 D13 850 9 0. 995 0. 846 8
R K2 D13 480 6 0.995 0.478 3
D13 178 kg
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{ "‘ T "‘ "‘ 1 1 D13 9,920 5| 099 9.870 49
$2 D13 8,300 8| 099 8.250 66
$3 D13 7, 440 1] 0995 7.403 7
2018 X 2,420 sS4 D13 7,360 1] 0995 7.323 7
3.310 S5 D13 1,860 44| 0.995 1.851 81
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s14 | D13 770 4| 0.9 0.766 3
1,863
s15 | D13 770 4| 0.9 0.766 3
2
s16 | D13 400 8| 0.9 0.398 3
S~ s17 | D13 500 8| 099 0.498 4
s18 | D13 1,200 8| 099 1.194 10
! -D13 X 3,150
s19 | D13 1,300 8| 099 1.294 10
$s20 | D13 4,200 2| 0.9 4179 8
W s 21 D13 3,860 2| 0.99% 3.841 8
s2 | D13 3,710 7| 0995 3.691 2
s23 | D13 3,370 6| 0995 3.353 2
s24 | D13 1,560 11| 0995 1.552 17
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o o sm| | om| s :
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X1 D 13 800 12| 099 0.796 10 1EKEE BHHEER
X2 D13 3,050 4| 0995 3.035 12 ns & Re x4 HUHE | —ALYHE H & "
(mm) (ke/m) (ke/A) (ke)
X3 D13 3,050 1] 0995 3.035 3 £ £ i
W1 D13 2,500 12 0995 2,488 30
7-D13 X 7,170 W2 D13 2,510 4| 0995 2,497 10
W3 D13 440 28| 0995 0.438 12
W4 D13 2,680 12 0995 2,667 32
W5 D13 460 24 | 0995 0.458 1
WK1 D13 570 18| 0995 0.567 10
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(mm) (kg/m) (kg/Z) (kg)
71 D13 2,270 25 | 0.995 2,259 56 e P—
72 D13 2,290 2| 0995 2,219 5 aE 25 ke
73 D13 1,350 25 | 0.995 1.343 3
74 D13 1,360 2| 0995 1.353 3 pon P—
75 D13 1,930 3| 0995 1.920 6
76 D13 1,180 2| 0995 1.174 2
71 D13 7,160 9| 0995 7.124 64
78 D13 7,170 7| 0995 7.134 50
79 D13 1,570 9| 0995 1.562 14
710 | D13 870 6| 0995 0.866 5
D13 239 ke
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(mm) (kg/m) (ke/%) (ke)
T D 16 7,000 14 1. 560 10.920 808
T2 D13 1,410 74 0.995 1.403 104
T3 D13 1,660 74 0.995 1. 652 122
T4 D13 1,380 148 0.995 1.373 203
TS5 D13 8,370 44 0.995 8.328 366
T6 D13 9,340 44 0.995 9.293 409
TK1 D13 690 68 0.995 0.687 47
TK2 D13 390 76 0.995 0.388 29
D13 1,280 ke
D 16 808 kg
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